
Transformátorova tabulka

31. prosince 2003

1 Fourierova transformace

F [f(x)] =
∫

Rn

f(x) · ei(x,ξ)dx

1.

F [f(x)](η) = (2π)nF−1[f(ξ)](−η)

2.

F [Dβf(x)] = (−iξ)βF [f ]

3.

F [f(x− x0)] = eiξx0F [f ]

4.

F [f ? g] = F [f ] · F [g]

5.

DβF [f(x)] = F [(ix)βf(x)]
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2 Laplaceova transformace

L[f(t)] =
∫
R

f(t)e−ptdt

1.

L[ḟ(t)] = p · L[f(t)]− f(0+)

2.

L[f(t)] = F (p)

+∞∫
0

f(t)dt = lim
p→0+

F (p)

3.

L[e−atf(t)] = F (p+ a)

4.

L[
t∫
0

f(τ)dτ ] =
L[f(t)]

p

5.

L[f ? g] = L[f ] · L[g]

6.

L[Θ(t)tα] = Γ(α+ 1)
pα+1

7.

L[tnf(t)] = (−1)n dnL[f(t)]
dpn

8.

L[f(t)
t
] =

+∞∫
p

L[f(t)](q)dq

9.

+∞∫
0

f(t)L[q(t)](t)dt =

+∞∫
0

L[f(t)](t)g(t)dt
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3 Známé transformované funkce
1.

L[δ(t− τ)] = e−τp

2.

L[Θ(t)] = 1
p

3.

L[Θ(t) · sinβt] =
β

p2 + β2

4.

L[Θ(t) · cosβt] =
p

p2 + β2

5.

L[Θ(t)eµt cosωt] =
p− µ

(p− µ)2 + ω2

6.

L[Θ(t)eµt sinωt] =
ω

(p− µ)2 + ω2

7.

L[Θ(t) sinhωt] =
ω

p2 − ω2

8.

L[Θ(t) coshωt] =
p

p2 − ω2

3


